

On generalization of different type inequalities for (α, m) -convex functions via fractional integrals

Imdat Iscan¹, Mustafa Aydin², Kerim Bekar³

^{1,3}Department of Mathematics, Faculty of Arts and Sciences, Giresun University, Giresun, Turkey

²Department of Finance-Banking and Insurance, Alucra Turan Barutçu Vocational School, Giresun University, Alucra-Giresun, Turkey

Received: 6 February 2016, Accepted: 28 March 2016

Published online: 19 June 2016.

Abstract: In this paper, new identity for fractional integrals have been defined. By using of this identity, the authors obtained new general inequalities containing all of Hadamard, Ostrowski and Simpson type inequalities for functions whose derivatives in absolute value at certain power are (α, m) -convex via Riemann Liouville fractional integral.

Keywords: Hermite–Hadamard inequality, Riemann–Liouville fractional integral, (α, m) -convex function.

1 Introduction

Following inequalities are well known in the literature as Hermite-Hadamard inequality, Ostrowski inequality and Simpson inequality respectively:

Theorem 1. Let $f : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be a convex function defined on the interval I of real numbers and $a, b \in I$ with $a < b$. The following double inequality holds

$$f\left(\frac{a+b}{2}\right) \leq \frac{1}{b-a} \int_a^b f(x) dx \leq \frac{f(a)+f(b)}{2}. \quad (1)$$

Theorem 2. Let $f : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be a mapping differentiable in I° , the interior of I , and let $a, b \in I^\circ$ with $a < b$. If $|f'(x)| \leq M$ for all $x \in [a, b]$, then the following inequality holds

$$\left| f(x) - \frac{1}{b-a} \int_a^b f(t) dt \right| \leq \frac{M}{b-a} \left[\frac{(x-a)^2 + (b-x)^2}{2} \right]$$

for all $x \in [a, b]$.

Theorem 3. Let $f : [a, b] \rightarrow \mathbb{R}$ be a four times continuously differentiable mapping on (a, b) and $\|f^{(4)}\|_\infty = \sup_{x \in (a, b)} |f^{(4)}(x)| < \infty$. Then the following inequality holds:

$$\left| \frac{1}{3} \left[\frac{f(a)+f(b)}{2} + 2f\left(\frac{a+b}{2}\right) \right] - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{1}{2880} \|f^{(4)}\|_\infty (b-a)^4.$$

In [16], G. Toader considered the class of m -convex functions: another intermediate between the usual convexity and starshaped convexity.

Definition 1. The function $f : [0, b] \rightarrow \mathbb{R}, b > 0$, is said to be m -convex, where $m \in [0, 1]$, if we have

$$f(tx + m(1-t)y) \leq tf(x) + m(1-t)f(y)$$

for all $x, y \in [0, b]$ and $t \in [0, 1]$. We say that f is m -concave if $(-f)$ is m -convex.

The class of (α, m) -convex functions was first introduced In [7], and it is defined as follows:

Definition 2. The function $f : [0, b] \rightarrow \mathbb{R}, b > 0$, is said to be (α, m) -convex where $(\alpha, m) \in [0, 1]^2$, if we have

$$f(tx + m(1-t)y) \leq t^\alpha f(x) + m(1-t^\alpha)f(y)$$

for all $x, y \in [0, b]$ and $t \in [0, 1]$.

It can be easily that for $(\alpha, m) \in \{(0, 0), (\alpha, 0), (1, 0), (1, m), (1, 1), (\alpha, 1)\}$ one obtains the following classes of functions: increasing, α -starshaped, starshaped, m -convex, convex, α -convex.

Denote by $K_m^\alpha(b)$ the set of all (α, m) -convex functions on $[0, b]$ for which $f(0) \leq 0$.

We give some necessary definitions and mathematical preliminaries of fractional calculus theory which are used throughout this paper.

Definition 3. Let $f \in L[a, b]$. The Riemann-Liouville integrals $J_{a^+}^\theta f$ and $J_{b^-}^\theta f$ of order $\theta > 0$ with $a \geq 0$ are defined by

$$J_{a^+}^\theta f(x) = \frac{1}{\Gamma(\theta)} \int_a^x (x-t)^{\theta-1} f(t) dt, \quad x > a$$

and

$$J_{b^-}^\theta f(x) = \frac{1}{\Gamma(\theta)} \int_x^b (t-x)^{\theta-1} f(t) dt, \quad x < b$$

respectively, where $\Gamma(\theta)$ is the Gamma function defined by $\Gamma(\theta) = \int_0^\infty e^{-t} t^{\theta-1} dt$ and $J_{a^+}^0 f(x) = J_{b^-}^0 f(x) = f(x)$.

In the case of $\theta = 1$, the fractional integral reduces to the classical integral. Properties concerning this operator can be found [3, 8, 12].

In recent years, many authors have studied errors estimations for Hermite-Hadamard, Ostrowski and Simpson inequalities. For recent some results and generalizations concerning (α, m) -convex functions see [2, 4, 5, 6, 9, 10, 11, 13, 14, 15].

In this paper, new identity for fractional integrals have been defined. By using of this identity, we obtained a generalization of Hadamard, Ostrowski and Simpson type inequalities for (α, m) -convex functions via Riemann Liouville fractional integral.

2 Main Results

Let $f : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be a differentiable function on I° , the interior of I , throughout this section we will take

$$S_f(mx, \lambda, \theta, ma, mb) = (1 - \lambda)m^{\theta-1} \left[\frac{(x-a)^\theta + (b-x)^\theta}{b-a} \right] f(mx) + \lambda m^{\theta-1} \left[\frac{(x-a)^\theta f(ma) + (b-x)^\theta f(mb)}{b-a} \right] - \frac{\Gamma(\theta+1)}{m(b-a)} \left[J_{(mx)^-}^\theta f(ma) + J_{(mx)^+}^\theta f(mb) \right]$$

where $m \in (0, 1]$, $ma, b \in I$ with $a < b$, $x \in [a, b]$, $\lambda \in [0, 1]$, $\theta > 0$ and Γ is Euler Gamma function. In order to prove our main results we need the following identity.

Lemma 1. *Let $f : I \subset \mathbb{R} \rightarrow \mathbb{R}$ be a differentiable mapping on I° such that $f' \in L[ma, mb]$, where $m \in (0, 1]$, $ma, b \in I$ with $a < b$. Then for all $x \in [a, b]$, $\lambda \in [0, 1]$ and $\theta > 0$ we have:*

$$S_f(mx, \lambda, \theta, ma, mb) = \frac{m^\theta (x-a)^{\theta+1}}{b-a} \int_0^1 (t^\theta - \lambda) f'(tmx + m(1-t)a) dt + \frac{m^\theta (b-x)^{\theta+1}}{b-a} \int_0^1 (\lambda - t^\theta) f'(tmx + m(1-t)b) dt.$$

A simple proof of the equality can be done by performing an integration by parts in the integrals from the right side and changing the variable. The details are left to the interested reader.

Theorem 4. *Let $f : I \subset [0, \infty) \rightarrow \mathbb{R}$ be a differentiable function on I° such that $f' \in L[ma, mb]$, where $m \in (0, 1]$, $ma, b \in I^\circ$ with $a < b$. If $|f'|^q$ is (α, m) -convex on $[ma, b]$ for some fixed $q \geq 1$, $x \in [a, b]$, $\lambda \in [0, 1]$ and $\theta > 0$ then the following inequality for fractional integrals holds*

$$|S_f(mx, \lambda, \theta, ma, mb)| \leq \frac{m^\theta A_1^{1-\frac{1}{q}}(\theta, \lambda)}{b-a} \left\{ (x-a)^{\theta+1} (|f'(mx)|^q A_2(\alpha, \theta, \lambda) + m |f'(a)|^q A_3(\alpha, \theta, \lambda))^{\frac{1}{q}} + (b-x)^{\theta+1} (|f'(mx)|^q A_2(\alpha, \theta, \lambda) + m |f'(b)|^q A_3(\alpha, \theta, \lambda))^{\frac{1}{q}} \right\} \tag{2}$$

where

$$A_1(\theta, \lambda) = \frac{2\theta\lambda^{1+\frac{1}{\theta}} + 1}{\theta + 1} - \lambda,$$

$$A_2(\alpha, \theta, \lambda) = \frac{2\theta\lambda^{1+\frac{1+\alpha}{\theta}}}{(\alpha + 1)(\alpha + \theta + 1)} + \frac{1}{\alpha + \theta + 1} - \frac{\lambda}{\alpha + 1},$$

$$A_3(\alpha, \theta, \lambda) = A_1(\theta, \lambda) - A_2(\alpha, \theta, \lambda) = \frac{2\theta\lambda^{1+\frac{1}{\theta}} + 1}{\theta + 1} - \frac{2\theta\lambda^{1+\frac{1+\alpha}{\theta}}}{(\alpha + 1)(\alpha + \theta + 1)} - \frac{1}{\alpha + \theta + 1} - \frac{\alpha\lambda}{\alpha + 1}.$$

Proof. From Lemma 1, property of the modulus and the power-mean inequality we have

$$\begin{aligned}
 & |S_f(mx, \lambda, \theta, ma, mb)| \\
 & \leq \frac{m^\theta (x-a)^{\theta+1}}{b-a} \left(\int_0^1 |t^\theta - \lambda| dt \right)^{1-\frac{1}{q}} \left(\int_0^1 |t^\theta - \lambda| |f'(tmx + m(1-t)a)|^q dt \right)^{\frac{1}{q}} \\
 & \quad + \frac{m^\theta (b-x)^{\theta+1}}{b-a} \left(\int_0^1 |t^\theta - \lambda| dt \right)^{1-\frac{1}{q}} \left(\int_0^1 |t^\theta - \lambda| |f'(tmx + m(1-t)b)|^q dt \right)^{\frac{1}{q}}. \tag{3}
 \end{aligned}$$

Since $|f'|^q$ is (α, m) -convex on $[ma, b]$, for all $t \in [0, 1]$

$$|f'(tmx + m(1-t)a)|^q \leq t^\alpha |f'(mx)|^q + m(1-t^\alpha) |f'(a)|^q$$

and

$$|f'(tmx + m(1-t)b)|^q \leq t^\alpha |f'(mx)|^q + m(1-t^\alpha) |f'(b)|^q.$$

Hence by simple computation we get

$$\int_0^1 |t^\theta - \lambda| dt = \frac{2\theta\lambda^{1+\frac{1}{\theta}} + 1}{\theta + 1} - \lambda \tag{4}$$

$$\begin{aligned}
 \int_0^1 |t^\theta - \lambda| |f'(tmx + m(1-t)a)|^q dt & \leq \int_0^1 |t^\theta - \lambda| (t^\alpha |f'(mx)|^q + m(1-t^\alpha) |f'(a)|^q) dt \\
 & = |f'(mx)|^q A_2(\alpha, \theta, \lambda) + m |f'(a)|^q A_3(\alpha, \theta, \lambda), \tag{5}
 \end{aligned}$$

and similarly

$$\begin{aligned}
 \int_0^1 |t^\theta - \lambda| |f'(tmx + m(1-t)b)|^q dt & \leq \int_0^1 |t^\theta - \lambda| (t^\alpha |f'(mx)|^q + m(1-t^\alpha) |f'(b)|^q) dt \\
 & = |f'(mx)|^q A_2(\alpha, \theta, \lambda) + m |f'(b)|^q A_3(\alpha, \theta, \lambda). \tag{6}
 \end{aligned}$$

If we use (4), (5) and (6) in (3), we obtain the desired result. This completes the proof.

Corollary 1. In Theorem 4,

(i) If we take $\theta = 1$, then inequality (2) reduced to the following inequality

$$\begin{aligned}
 |S_f(mx, \lambda, 1, ma, mb)| & = \left| (1-\lambda)f(mx) + \lambda \left[\frac{(x-a)f(ma) + (b-x)f(mb)}{b-a} \right] - \frac{1}{m(b-a)} \int_{ma}^{mb} f(t) dt \right| \\
 & \leq \frac{mA_1^{1-\frac{1}{q}}(1, \lambda)}{b-a} \left\{ (x-a)^2 (|f'(mx)|^q A_2(\alpha, 1, \lambda) + m |f'(a)|^q A_3(\alpha, 1, \lambda))^{\frac{1}{q}} \right. \\
 & \quad \left. + (b-x)^2 (|f'(mx)|^q A_2(\alpha, 1, \lambda) + m |f'(b)|^q A_3(\alpha, 1, \lambda))^{\frac{1}{q}} \right\}.
 \end{aligned}$$

(ii) If we take $q = 1$, then inequality (2) reduced to the following inequality

$$|S_f(mx, \lambda, \theta, ma, mb)| \leq \frac{m^\theta}{b-a} \left\{ (x-a)^{\theta+1} (|f'(mx)| A_2(\alpha, \theta, \lambda) + m |f'(a)| A_3(\alpha, \theta, \lambda)) + (b-x)^{\theta+1} (|f'(mx)| A_2(\alpha, \theta, \lambda) + m |f'(b)| A_3(\alpha, \theta, \lambda)) \right\}$$

(iii) If we take $x = \frac{a+b}{2}$, $\lambda = \frac{1}{3}$, then we get the following Simpson type inequality via fractional integrals

$$\begin{aligned} & \left| \frac{2^{\theta-1}}{m^{\theta-1}(b-a)^{\theta-1}} S_f \left(m \left(\frac{a+b}{2} \right), \frac{1}{3}, \theta, ma, mb \right) \right| \\ &= \left| \frac{1}{6} \left[f(ma) + 4f \left(\frac{m(a+b)}{2} \right) + f(mb) \right] - \frac{\Gamma(\theta+1)2^{\theta-1}}{m^\theta(b-a)^\theta} \left[J_{\left(\frac{m(a+b)}{2}\right)^-}^\theta f(ma) + J_{\left(\frac{m(a+b)}{2}\right)^+}^\theta f(mb) \right] \right| \\ &\leq \frac{m(b-a)}{4} A_1^{1-\frac{1}{q}} \left(\theta, \frac{1}{3} \right) \left\{ \left(\left| f' \left(\frac{m(a+b)}{2} \right) \right|^q A_2 \left(\alpha, \theta, \frac{1}{3} \right) + m |f'(a)|^q A_3 \left(\alpha, \theta, \frac{1}{3} \right) \right)^{\frac{1}{q}} \right. \\ &\quad \left. + \left(\left| f' \left(\frac{m(a+b)}{2} \right) \right|^q A_2 \left(\alpha, \theta, \frac{1}{3} \right) + m |f'(b)|^q A_3 \left(\alpha, \theta, \frac{1}{3} \right) \right)^{\frac{1}{q}} \right\}. \end{aligned}$$

(iv) If we take $x = \frac{a+b}{2}$, $\lambda = 0$, then we get the following midpoint type inequality via fractional integrals

$$\begin{aligned} & \frac{2^{\theta-1}}{m^{\theta-1}(b-a)^{\theta-1}} \left| S_f \left(m \left(\frac{a+b}{2} \right), 0, \theta, ma, mb \right) \right| \\ &= \left| f \left(\frac{m(a+b)}{2} \right) - \frac{\Gamma(\theta+1)2^{\theta-1}}{m^\theta(b-a)^\theta} \left[J_{\left(\frac{m(a+b)}{2}\right)^-}^\theta f(ma) + J_{\left(\frac{m(a+b)}{2}\right)^+}^\theta f(mb) \right] \right| \\ &\leq \frac{m(b-a)}{4} \left(\frac{1}{\theta+1} \right) \left(\frac{1}{\alpha+\theta+1} \right)^{\frac{1}{q}} \left\{ \left[(\theta+1) \left| f' \left(\frac{m(a+b)}{2} \right) \right|^q + \alpha m |f'(a)|^q \right]^{\frac{1}{q}} \right. \\ &\quad \left. + \left[(\theta+1) \left| f' \left(\frac{m(a+b)}{2} \right) \right|^q + \alpha m |f'(b)|^q \right]^{\frac{1}{q}} \right\}. \end{aligned}$$

(v) If we take $\lambda = 1$, then we get the following generalized trapezoid type inequality via fractional integrals

$$\begin{aligned} & m^{1-\theta} |S_f(mx, 1, \alpha, ma, mb)| \\ &= \left| \frac{(x-a)^\theta f(ma) + (b-x)^\theta f(mb)}{b-a} - \frac{\Gamma(\theta+1)}{m^\theta(b-a)} \left[J_{m^-}^\theta f(ma) + J_{m^+}^\theta f(mb) \right] \right| \\ &\leq \frac{m}{b-a} \left(\frac{\theta}{\theta+1} \right)^{1-\frac{1}{q}} \left(\frac{1}{(\alpha+1)(\theta+1)(\alpha+\theta+1)} \right)^{\frac{1}{q}} \\ &\quad \times \left\{ (x-a)^{\theta+1} \left[\theta(\theta+1) |f'(mx)|^q + m\alpha\theta(\alpha+\theta+2) |f'(a)|^q \right]^{\frac{1}{q}} \right. \\ &\quad \left. + (b-x)^{\theta+1} \left[\theta(\theta+1) |f'(mx)|^q + m\alpha\theta(\alpha+\theta+2) |f'(b)|^q \right]^{\frac{1}{q}} \right\}. \end{aligned}$$

(vi) If $|f'(u)| \leq M$ for all $u \in [ma, b]$ and $\lambda = 0$, then we get the following Ostrowski type inequality via fractional integrals

$$\left| \left[\frac{(x-a)^\theta + (b-x)^\theta}{b-a} \right] f(mx) - \frac{\Gamma(\theta+1)}{m^\theta(b-a)} \left[J_{mx^-}^\theta f(ma) + J_{mx^+}^\theta f(mb) \right] \right| \\ \leq mM \left(\frac{1}{\theta+1} \right) \left(\frac{\alpha m + \theta + 1}{\alpha + \theta + 1} \right)^{\frac{1}{q}} \left[\frac{(x-a)^{\theta+1} + (b-x)^{\theta+1}}{b-a} \right],$$

for each $x \in [a, b]$.

Theorem 5. Let $f : I \subset [0, \infty) \rightarrow \mathbb{R}$ be a differentiable function on I° such that $f' \in L[ma, mb]$, where $m \in (0, 1]$, $ma, b \in I^\circ$ with $a < b$. If $|f'|^q$ is (α, m) -convex on $[ma, b]$ for some fixed $q > 1$, $x \in [a, b]$, $\lambda \in [0, 1]$ and $\theta > 0$ then the following inequality for fractional integrals holds

$$|S_f(mx, \lambda, \theta, ma, mb)| \leq \frac{m^\theta A_4(\theta, \lambda, p)^{\frac{1}{p}}}{b-a} \left\{ (x-a)^{\theta+1} \left(\frac{|f'(mx)|^q + \alpha m |f'(a)|^q}{\alpha + 1} \right)^{\frac{1}{q}} \right. \\ \left. + (b-x)^{\theta+1} \left(\frac{|f'(mx)|^q + \alpha m |f'(b)|^q}{\alpha + 1} \right)^{\frac{1}{q}} \right\} \quad (7)$$

where

$$A_4(\theta, \lambda, p) = \begin{cases} \frac{1}{\theta p + 1}, & \lambda = 0 \\ \left\{ \frac{\lambda^{\frac{\theta p + 1}{\theta}}}{\theta} \beta\left(\frac{1}{\theta}, p + 1\right) + \frac{(1-\lambda)^{p+1}}{\theta(p+1)} \right. \\ \left. \times {}_2F_1\left(1 - \frac{1}{\theta}, 1; p + 2; 1 - \lambda\right) \right\} & 0 < \lambda < 1, \\ \frac{1}{\theta} \beta\left(p + 1, \frac{1}{\theta}\right), & \lambda = 1 \end{cases}$$

β is Euler Beta function defined by

$$\beta(x, y) = \frac{\Gamma(x)\Gamma(y)}{\Gamma(x+y)} = \int_0^1 t^{x-1} (1-t)^{y-1} dt, \quad x, y > 0,$$

${}_2F_1$ is hypergeometric function defined by

$${}_2F_1(a, b; c; z) = \frac{1}{\beta(b, c-b)} \int_0^1 t^{b-1} (1-t)^{c-b-1} (1-zt)^{-a} dt, \quad c > b > 0, |z| < 1 \text{ (see [1])},$$

and $\frac{1}{p} + \frac{1}{q} = 1$.

Proof. From Lemma 1, property of the modulus and using the Hölder inequality we have

$$|S_f(mx, \lambda, \theta, ma, mb)| \leq \frac{m^\theta (x-a)^{\theta+1}}{b-a} \left(\int_0^1 |t^\theta - \lambda|^p dt \right)^{\frac{1}{p}} \left(\int_0^1 |f'(tmx + m(1-t)a)|^q dt \right)^{\frac{1}{q}} \\ + \frac{m^\theta (b-x)^{\theta+1}}{b-a} \left(\int_0^1 |t^\theta - \lambda|^p dt \right)^{\frac{1}{p}} \left(\int_0^1 |f'(tmx + m(1-t)b)|^q dt \right)^{\frac{1}{q}}. \quad (8)$$

Since $|f'|^q$ is (α, m) -convex on $[ma, b]$, we get

$$\int_0^1 |f'(tmx + m(1-t)a)|^q dt \leq \int_0^1 t^\alpha |f'(mx)|^q + m(1-t^\alpha) |f'(a)|^q dt = \frac{|f'(mx)|^q + \alpha m |f'(a)|^q}{\alpha + 1}, \tag{9}$$

$$\int_0^1 |f'(tmx + m(1-t)b)|^q dt \leq \int_0^1 t^\alpha |f'(mx)|^q + m(1-t^\alpha) |f'(b)|^q dt = \frac{|f'(mx)|^q + \alpha m |f'(b)|^q}{\alpha + 1}, \tag{10}$$

and by simple computation

$$\int_0^1 |t^\theta - \lambda|^p dt = \begin{cases} \frac{1}{\theta p + 1}, & \lambda = 0 \\ \frac{\lambda \frac{\theta p + 1}{\theta} \beta(\frac{1}{\theta}, p + 1) + \frac{(1-\lambda)^{p+1}}{\theta(p+1)}}{\times {}_2F_1(1 - \frac{1}{\theta}, 1; p + 2; 1 - \lambda)} \}, & 0 < \lambda < 1 \\ \frac{1}{\theta} \beta(p + 1, \frac{1}{\theta}), & \lambda = 1 \end{cases} \tag{11}$$

Hence, If we use (9)-(11) in (8), we obtain the desired result. This completes the proof.

Corollary 2. *In Theorem 5,*

1. *If we take $\theta = 1$, then inequality (7) reduced to the following inequality*

$$\left| (1-\lambda)f(mx) + \lambda \left[\frac{(x-a)f(ma) + (b-x)f(mb)}{b-a} \right] - \frac{1}{m(b-a)} \int_{ma}^{mb} f(t) dt \right| \leq \frac{mA_4(1, \lambda, p)^{\frac{1}{p}}}{b-a} \left\{ (x-a)^2 \left(\frac{|f'(mx)|^q + \alpha m |f'(a)|^q}{\alpha + 1} \right)^{\frac{1}{q}} + (b-x)^2 \left(\frac{|f'(mx)|^q + \alpha m |f'(b)|^q}{\alpha + 1} \right)^{\frac{1}{q}} \right\}.$$

2. *If we take $x = \frac{a+b}{2}$, $\lambda = \frac{1}{3}$, then we get the following Simpson type inequality via fractional integrals*

$$\left| \frac{1}{6} \left[f(ma) + 4f\left(\frac{m(a+b)}{2}\right) + f(mb) \right] - \frac{\Gamma(\theta + 1)2^{\theta-1}}{m^\theta(b-a)^\theta} \left[J_{\left(\frac{m(a+b)}{2}\right)^-}^\theta f(ma) + J_{\left(\frac{m(a+b)}{2}\right)^+}^\theta f(mb) \right] \right| \leq \frac{m(b-a)}{4} A_4^{\frac{1}{p}} \left(\theta, \frac{1}{3}, p \right) \left\{ \left(\frac{|f'\left(\frac{m(a+b)}{2}\right)|^q + \alpha m |f'(a)|^q}{\alpha + 1} \right)^{\frac{1}{q}} + \left(\frac{|f'\left(\frac{m(a+b)}{2}\right)|^q + \alpha m |f'(b)|^q}{\alpha + 1} \right)^{\frac{1}{q}} \right\}.$$

3. *If we take $x = \frac{a+b}{2}$, $\lambda = 0$, then we get the following midpoint type inequality via fractional integrals*

$$\left| f\left(\frac{m(a+b)}{2}\right) - \frac{\Gamma(\theta + 1)2^{\theta-1}}{m^\theta(b-a)^\theta} \left[J_{\left(\frac{m(a+b)}{2}\right)^-}^\theta f(ma) + J_{\left(\frac{m(a+b)}{2}\right)^+}^\theta f(mb) \right] \right| \leq \frac{m(b-a)}{4} \left(\frac{1}{\theta p + 1} \right)^{\frac{1}{p}} \left\{ \left(\frac{|f'\left(\frac{m(a+b)}{2}\right)|^q + \alpha m |f'(a)|^q}{\alpha + 1} \right)^{\frac{1}{q}} + \left(\frac{|f'\left(\frac{m(a+b)}{2}\right)|^q + \alpha m |f'(b)|^q}{\alpha + 1} \right)^{\frac{1}{q}} \right\}.$$

4. If we take $\lambda = 1$, then we get the following generalized trapezoid type inequality via fractional integrals

$$\left| \frac{(x-a)^\theta f(ma) + (b-x)^\theta f(mb)}{b-a} - \frac{\Gamma(\theta+1)}{m^\theta(b-a)} \left[J_{mx^-}^\theta f(ma) + J_{mx^+}^\theta f(mb) \right] \right| \\ \leq \frac{m \left(\frac{1}{\theta} \beta \left(p+1, \frac{1}{\theta} \right) \right)^{\frac{1}{p}}}{b-a} \left\{ (x-a)^{\theta+1} \left(\frac{|f'(mx)|^q + \alpha m |f'(a)|^q}{\alpha+1} \right)^{\frac{1}{q}} + (b-x)^{\theta+1} \left(\frac{|f'(mx)|^q + \alpha m |f'(b)|^q}{\alpha+1} \right)^{\frac{1}{q}} \right\}.$$

5. If $|f'(u)| \leq M$ for all $u \in [ma, b]$ and $\lambda = 0$, then we get the following Ostrowski type inequality via fractional integrals

$$\left| \left[\frac{(x-a)^\theta + (b-x)^\theta}{b-a} \right] f(mx) - \frac{\Gamma(\theta+1)}{m^\theta(b-a)} \left[J_{mx^-}^\theta f(ma) + J_{mx^+}^\theta f(mb) \right] \right| \\ \leq mM \left(\frac{1}{\theta p + 1} \right)^{\frac{1}{p}} \left(\frac{1 + \alpha m}{\alpha + 1} \right)^{\frac{1}{q}} \left[\frac{(x-a)^{\theta+1} + (b-x)^{\theta+1}}{b-a} \right],$$

for each $x \in [a, b]$.

3 conclusion

The paper deals with general integral inequalities containing all of Hadamard, Ostrowski and Simpson type inequalities for (α, m) -convex functions via fractional integrals. Firstly, some theorems on general integral inequalities are given. Later, several results of this general integral inequalities are mentioned.

References

- [1] M. Abramowitz and I.A. Stegun (Eds.), Handbook of Mathematical Functions with Formulas, Graphs, and Mathematical Tables, Dover, New York, 1965.
- [2] M.K. Bakula, M.E. Ozdemir and J. Pecaric, Hadamard type inequalities for m -convex and (α, m) -convex functions, J. Inequal. Pure Appl. Math. **9**(4) (2008) Article 96, p. 12. [Online: <http://jipam.vu.edu.au/article.php?sid=1032>].
- [3] R. Gorenflo and F. Mainardi, Fractional calculus, integral and differential equations of fractional order, Springer Verlag, Wien, 1997, 223-276.
- [4] I. Iscan, A new generalization of some integral inequalities for (α, m) -convex functions, Mathematical Sciences **7**(22) (2013)1-8.
- [5] I. Iscan, New estimates on generalization of some integral inequalities for (α, m) -convex functions, Contemp. Anal. Appl. Math. **1**(2) (2013), 253-264 .
- [6] I. Iscan, Hermite-Hadamard type inequalities for functions whose derivatives are (α, m) -convex, International Journal of Engineering and Applied sciences **2**(3) (2013), 69-78.
- [7] V.G. Miheşan, A generalization of the convexity. Seminar on Functional Equations, Approximation and Convexity, Cluj-Napoca, Romania, 1993.
- [8] S. Miller and B. Ross, An introduction to the Fractional Calculus and Fractional Differential Equations, John Wiley & Sons, USA, 1993.
- [9] M.E. Ozdemir, M. Avci and H. Kavurmacı, Hermite-Hadamard-type inequalities via (α, m) -convexity, Comput. Math. Appl. **61** (2011), 2614-2620.
- [10] M.E. Ozdemir, H. Kavurmacı and E. Set, Ostrowski's type inequalities for (α, m) -convex functions, Kyungpook Math. J. **50** (2010), 371-378.

- [11] J. Park, Hermite-Hadamard and Simpson-Like Type Inequalities for Differentiable (α, m) -Convex Mappings, *Int. J. Math. Math. Sci.* **2012** (2012), Article ID 809689, 12 pages . doi:10.1155/2012/809689.
- [12] I. Podlubni, *Fractional Differential Equations*, Academic Press, San Diego, 1999.
- [13] M.Z. Sarıkaya and N. Aktan, On the generalization of some integral inequalities and their applications, *Math. Comput. Modelling* **54** (2011), 2175-2182 .
- [14] M.Z. Sarıkaya and H. Ogunmez, On new inequalities via Riemann-Liouville fractional integration, *Abstr. Appl. Anal.* **2012** (2012), Article ID 428983, 10 pages. doi:10.1155/2012/428983. Zbl 1253.26012.
- [15] M.Z. Sarıkaya, E. Set, H. Yıldız and N. Başak, Hermite-Hadamard's inequalities for fractional integrals and related fractional inequalities, *Math. Comput. Modelling* **57**(9-10) (2013), 2403-2407.
- [16] G. Toader, Some generalizations of the convexity, *Proceedings of The Colloquium On Approximation And Optimization*, Univ. Cluj-Napoca, Cluj-Napoca, 1985, 329-338.